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hello.c

/* 20104001 2 &= 03050900 */

#include <stdio.h> h

Int main(void)

{
printf(“Hello, world ¥n”);

return O;
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hello.c 0| Al =OI A}

Comment

m /* 'k/

m //

= ZZ20| CHot 7 dES HtEA| X3t
Preprocessor

m #

= #include

22| JE)

return_type function_name ( parameter_list)

{

return ;

ol
o

(1)
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j hello.c OJ|Al 2HQI AFSH(2)

type : int, short, long, signed, unsigned, -
float, double, char
ol ofgt: 2% 18

r— T LN &)

er= 2 =9| 9|0
printf()2] 7|

m H2t 22X (¢, d, f, s, ...)
returne| gt
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sec to hms.c

/* 20034201 =Z-= 03050900 */
#include <stdio.h>

#define SECS_PER_HOUR 3600
#define SECS_PER_MIN 60

int main(void)

{

int total_secs;
int hours, mins, secs;
int remain;

printf(“total secs ? );
scanf("%d", &total_secs);

hours = total_secs / SECS_PER_HOUR;
remain = total_secs % SECS_PER_HOUR;
mins = remain / SECS_PER_MIN;

secs = remain % SECS_PER_MIN;

printf("%d secs -> %d hour(s), %d min(s), %d sec(s)¥n", total_secs, hours, mins, secs);

return O;
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sec_to hms.cO|Al ZHOI AFSH(D)

#defineS 0|23t= 0|2 B
m T2 00| O|o|E &=7| O|o)
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= |value, rvalue
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sec_to hms.cO|Al ZHOI AFSH(2)

Mot M

Haw oMK}

m+, - %/ %

scanf()Q| 7| &

= &H=0[F 2| 2|0

= scanf()Q| A1} 52| 2|0

m H2t 22X (¢, d, f, Id, ...)

scanf() O| 2 L{ &
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j =/ |& — 1f(1)

if AL Of n

if (number == 7) {
printf(“LUCKY”);

}

if-else A2 O

if (score > 59) {
printf(“PASS”);

}

else {
printf(“FAIL™);

}
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nested if
if (month == 2) {
if (leap_year) {

days = 29;
}
else {

days = 28;

}
}

1

LN

if(2)
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if-else if-else AFE 0

if (score > 100 || score < 0) {
printf(“Error”);

}

else if (score > 89){
printf(“A”);

}

else if (score > 79){
printf(“B”);

}

else if (score > 69){
printf(“C”);

}

else if (score > 59){
printf(“D”);

}

if(3)

Else {

e—O o6—o

S

printf(“F”);
}

o O@®

O
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switch (choice) {
case ‘a’ :
case ‘A’ :
++a_cnt;
break;
case ‘b’ :
case ‘B’ :
++b_cnt;
break;
default :
++other_cnt;
}
switch( 3 #H=)
break 29| At
default o A5t

- switch
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_j == -7

expr ? expr . expr _
X=(y<2z2?y:z
s 2 L&
if (y < 2)
X =Y,
else
X =Z
= AFE O
printf(“%d min%cWn”, mins, (mins > 1) ? s’ : *7);
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H 25 - while

O|& ¢
while (--n > 0) {

while (n < 10) {

N++;
}
Fob F2ZoF H(null) =&

while(1) ;
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L— 1 L—
o|& O
for(n = 0; n < 10; n++) {
sum += n;

n=0;

for ( n < 10)) {
sum += n;
N+ +;

}

CHE 0 (2)

for(n = 0; n < 10; sum +=n, n++) ;
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do {
} while (--n > 0) ;

while=1}°| X}O| A
m 0+ Q2 1+
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break=1} continue+=

break=

m switch=

= for, while, do EH= 5 Q0] A
continue=

= for, while, do HH=.2 OL0j| A

CEMNOE XA E|5 Al Ar-E5H0{ OF SHH,

j
switch 20| Al AA0| = breakE= K| 2| ot
LIHX| 2= A8 S5 Ao
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err_ sec_to _hms.c

/* 20034201 2Z -3 03050900 */
#include <stdio.h> ; (1)

#define SECS_PER_HOUR 3600
#define SECS_PER_MIN 60: (2)

int main(void)_;(3)

{
int total_secs;
int hours, mins, secs;
int remain;

{(4)
printf(“total secs ?_);(5
scanf("%d ", total_secs): (6) (7)

hours = total_secs / 3600. ; (8)
remain = total_secs % SECS_PER_HOUR;
mins = remain / SECS_PER_MIN;
secs = remain % SECS_PER_MIN;

printf("%d secs -> %d hour(s), %d min(s), %d sec(s)Wn”, total_secs, hours, Secs); (9)

return O;
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